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(1) | fAx)=32" 42445, R £'(0), £'(1);
(2) BA=)=— RS(0), f'(w)s
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(1) y=32"+2; (2) y=



(3) y=o"+ns; 4) r=§+%+2JI+J—i_-.-

(5) y=2"log,x; (6) y=€e"cos x;
(7) y=(£+1) (32-1) (1-2") 5 - @) =T
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(1) y=x./1-2"; (2) .:r={zz—1}3;
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(7) y=In (x+ /14x" ); (8) y=In M.
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(9) y=(sin x+cos z)°; (10) y=cos’4x;
(11) y=sin /142" ; (12) y=(sin 5*)*;

(13) y=arcsin (14) y=(arctan 2)%;
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(1) fx)=4; (2) flz+1)=2";
(3) flz-1)=42".
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(1) (shz)'=chx; (2) (ch x)'=sh z;
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(3) (ih "}*i;*,‘ (4) (coth x)"=-—-.
8. RFFAIBENHSN:
(1) y=sb's; (2) y=ch (oh 2);

(3) y=In (ch x); (4)y=arctan (th z).
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B8 (2) y=ch™*s;

(3) ;r=th"x: (4) y=coth™x;

() y=th'ls-coth"%; (6) y=sh(ian 2).
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L. RFFEREHREANRB 2
(1) =)= 38’“33-53-9.531"(1) +£7(1), £9(1);
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3. RTAEROKE K-

(1) f(x)=2In 2,k f"(); (2) flix)=e" , Rf*(2);
(3) fiz)=1n(142) , R f(2); (4) fx)=2"e", R [ (x).

3. RTAEROKB S

(1) fiz)=2ln 2, R () ; (2) flx)=e" , Rf*(2);
(3) fix)=In(1+2) , RV (2); (4) flz)=2"e", R ().



4, BIAZBIFER, RTHASERHN_Br32 N :
(1) y=f(ln x); (2) y=f(s") ,neN,; -
(3) r=f(f(=)).

5. RTFAIBHE n O
(1) y=In x; (2) y=a" (a>0,a%1);
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(6) y=e"sin bx(a,b 35N M).
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9. i y=arctan x.
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10. i y=arcsin x.
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2. RTAIEHAMS:

(1) ys#l»ls’——;—x"'-u‘; (2) y=2ln x-z;

(3) y=x"cos 21; - (4) r=-l—_i-,-:



(5) y=e"sin bx; (6) y=arcsin ﬂf‘l-xl.
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(1) @ u(x)=1n z,0(x)= ", R d&*(uv) .A’(%) ;

(2) T u(x)= o ;5(2)= cob éz,sg 'd’(w) ,d’(-g_-) o
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(1) J102; (2) g2.7;
(3) tan 45°10"; (4) ./26.
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